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Question Number : 101 Question Id : 540250871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II :-

List - 1 List - II
(A) M.S. Vats (I)  Dholavira
(B) B.K. Thapar (I[) Bahawalpur
(C) R.S. Bisht (IlI) Harappa
(D) M.R. Mughal (IV) Kalibangan

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(), (O)-{1), (D)-I)

(2 (A1, B)-(), (O-(II), (D}-(IV)

(3)  (A)-(L), (B)-(1V), (O)-(1), (D)-()

(4)  (AHIV), (B)-(1I), (O)-(), (D)-(IID)

Options:

5402503481. 1

5402503482. 2

5402503483. 3

5402503484. 4

Question Number : 101 Question Id : 540250871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




ehl-1 & GeA-11 1 foerm i
qeit-1 gEl-11

(A) THTH I () et
(B) @k A9 (II) SETEaAR
(C) 3R.uy. fa=e (Il) %<

(D) TH.AR. Td (IV) =Tl ST

19 feu U faeheyl § | W&l ST k1 T HifC

(1) (A)-(1V), (B)-(L), (O)-(), (D)-(1I)
(2)  (A)-1D), (B)-(D), (O-I), (D)-(IV)
(3) (A, (B)-(1V), (O)-(1), (D)-(T)
(4)  (A)1V), (B)-(ID), (O)-(D), (D)-(IT)
Options:

5402503481. 1
5402503482. 2
5402503483. 3

5402503484. 4

Question Number : 102 Question Id : 540250872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Choose the correct statements regarding residential bujldings at Mohenjodaro.
A) Main entrance gave direct view of the interior or the courtyard.

B) Courtyard with rooms on all sides.

(

(

(C) No concept of staircase.

(D) No windows were there in the walls along the ground level.
(

E) Houses did not have their own bathroom.
Choose the correct answer from the options given below :

(1) (A), (B) Only
(2 (B) (C) Only
() (B), (D) Only
(4) (D), (E) Only
Options:
5402503485. 1
5402503486. 2
5402503487. 3
5402503488. 4

Question Number : 102 Question Id : 540250872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503485. 1
5402503486. 2
5402503487.3

5402503488. 4

Question Number : 103 Question Id : 540250873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The "Late Harappan” culture is marked by :
A) Long distance trade and writing were prominent during this phase.

B) Disappearance of distinctive artefacts of the civilisation.

(

(

(C) House construction technique deteriorated.

(D) Large public structures were no longer produced.

(E) Overall artefacts and settlement indicate rural way of life.

Choose the correct answer from the options given below :

(1) ()()()(D)OHIV

(2 (A) (B), (D), (E) Onl

(3) (A) (B), (C), (E) Onl
(4 (8),(C), @) E) Onlv
Options:

5402503489. 1
5402503490. 2
5402503491. 3
5402503492. 4

Question Number : 103 Question Id : 540250873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503489. 1
5402503490. 2
5402503491. 3
5402503492. 4

Question Number : 104 Question Id : 540250874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following periods of ‘Early India Archaeology’ in a chronological order.
(A) Chalcolithic Age

(B) Early Historic

(C) Neolithic Age

(D) Megalithic Burials

(E) Harrapan Civilisation

Choose the correct answer from the options given below :

(1) (@) C), ®) ) E)

(
(2 (B)(4)© ) D)
() (G, (A), ) D), B)
(4)  (B) ) (&) D) E)
Options:

5402503493. 1
5402503494. 2
5402503495. 3
5402503496. 4

Question Number : 104 Question Id : 540250874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(A)  TTHITEI e

(B) i gfmE

(C) TerdToo <HTet

(D) TSI e

(E) et H¥dl

A fou e foshedi § | W IR 1 =TI HIfU
(D) (A), (), (B), D), (E)
(2 (B), (A) (O, (E), (D)
(3 (©), (A), (E), (D), (B)
(4 (B) Q) (A), (D), (E)
Options :

5402503493. 1
5402503494. 2
5402503495. 3
5402503496. 4

Question Number : 105 Question Id : 540250875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following statements are correct about the Harappan Settlement ?

(A) The settlement is divided into two sections, one smaller and lower and the other much
larger and higher.

(B) The Citadel was walled, which meant that it was physically separated from the Lower
Town.

(C) Only burnt bricks of a standard ratio were used in the settlement.

(D) The building of the Harappan settlement required mobilisation of labour on a very large
scale.

(E) The settlement was first planned and then built accordingly.

Choose the correct answer from the options given below :

(1) (©, (D)) COn

(2 (6), (D), (£} Only

() (&) (©), (D) Only

) (&) (), ©) Only

Options:

5402503497. 1

5402503498. 2

5402503499. 3

5402503500. 4

Question Number : 105 Question Id : 540250875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503497.1
5402503498. 2
5402503499. 3
5402503500. 4

Question Number : 106 Question Id : 540250876 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which story describes the plight of the subjects under a wicked king ?
(1) Gandatindu Jataka

(2
(3
(

) Panchatantra
) Manusmriti
)

4) Ugrahara




Options:

5402503501. 1
5402503502. 2
5402503503. 3
5402503504. 4

Question Number : 106 Question Id : 540250876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
-t HUT G TS 1 Y1 i a9 il fe@rdt g2
(1) TEIdUg ek

(2) YHaH
(3) wFH
(4) 3URK
Options:

5402503501. 1
5402503502. 2
5402503503. 3

5402503504. 4

Question Number : 107 Question Id : 540250877 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Identify the correct pair of Mahajanapadas.
(A) Vajji, Magadha, Avanti, Banawali

(B) Magadha, Koshala, Kuru, Panchala
(C) Gandhara, Afgan, Magadha, Koshala
(D) Matsya, Chola, Chera, Pandya

(E) Vatsa, Chedi, Gandhara, Avanti

Choose the correct answer from the options given below :
(1) (B), (E) Only

(2) (O, (A) Only
(3) (D), (A) Only
(4)  (E) (C) Only
Options:

5402503505. 1
5402503506. 2
5402503507. 3

5402503508. 4

Question Number : 107 Question Id : 540250877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




TEISYE] o WEr JH 1 Jg=™ &1
(A) afss, 7y, staf, sAmEd
(B) Y, VA, FF, T=EA
(C) TMYR, SFH, W1, I
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== fou o fashed ° 9 W& 39 1 997 Hife ;
(1) 9 (B) 3R (E)
(2) e (C) 3R (A)
(3) ad (D) SR (A)
(4) 9d (E) 3R (Q)
Options :
5402503505. 1
5402503506. 2

5402503507. 3
5402503508. 4

Question Number : 108 Question Id : 540250878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the scripts deciphered by James Prinsep.
(I) Bengali and Devanagari

(2) Sanskrit and Prakrit

(3) Brahnmu and Kharosthi

(4) Greek and Indo-Greek




Options:

5402503509. 1
5402503510. 2
5402503511. 3
5402503512. 4

Question Number : 108 Question Id : 540250878 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Sieg U89 gr1 uel i fafadi o6t gg=e o+

(1) STeft 991 SaAre
(2) H@EQ qN WA
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Options:

5402503509. 1
5402503510. 2
5402503511. 3

5402503512. 4

Question Number : 109 Question Id : 540250879 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Arrange the following textual traditions in a chronological order.
(A) Charaka and Sushruta Samhitas
(B) Natyashastra of Bharata

(C) Manusmriti

(D) Sanskrit plays of Kalidasa

(E) Ashtadhyayi of Panini

Choose the correct answer from the options given below :

(1) (E), (Q) (A), (B), (D)
(2 (D) (©), (B), B), (A)
(3)  (4) (B), Q) (D), (E)
(4)  (E) (D), (©), B), (A)
Options:

5402503513. 1
5402503514. 2
5402503515. 3
5402503516. 4

Question Number : 109 Question Id : 540250879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(A) =R T Ygd Hied
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(C) wI=Md
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(E) wrfurf =i ayeeiear
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(D) (E) (©), (A), (B), (D)
(2) (D), (C) (B), (B), (A)
3)  (A) (B) (O (D), (E)
(4)  (E), (D), (©), (B), (A)
Options:

5402503513. 1
5402503514. 2
5402503515. 3

5402503516. 4

Question Number : 110 Question Id : 540250880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Who is the author of “Travels in the Mughal Empire” ?
(1) Francois Bernier

(2) Seydi Ali Reis

(3) Peter Mundy

(4) Jean-Baptiste Tavernier

Options:



5402503517. 1
5402503518. 2
5402503519. 3
5402503520. 4

Question Number : 110 Question Id : 540250880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

‘39T T < A T’ o R i § 2
(1) R SRR

(2) FES ol BH

(3) W= He

(4) S Sufem qafr

Options :

5402503517. 1
5402503518. 2
5402503519. 3

5402503520. 4

Question Number : 111 Question Id : 540250881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - II :-

List - 1 List - II
(A) Peter Mundy (I)  France
(B) Ibn Battuta (II) England
(C) Francois Bernier (III) Spain
(D) Antonio Monserrate (IV) Morocco

Choose the correct answer from the options given below :

(1) (AL, (B)-(), (O-(I), (D}-(IV)

(2) (A, (B)-(IV), (O)-(D, (D)-(IID)
(3) (A, (B)-(1V), (O-(1I), (D)-(I)
(4 (A)-D), (B)}-(IV), (O)-(II), (D)-(I)
Options :

5402503521. 1
5402503522. 2
5402503523. 3
5402503524. 4

Question Number : 111 Question Id : 540250881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(D) (A)-D), (B)-(IIL), (C)-(ID), (D)-(1V)
(2)  (A)-1D), (B)-(IV), (O)-(D), (D)-(I)
(3)  (A)-), (B)-(1V), (O)-(1I), (D))
(4)  (A)-D), (B)-(IV), (C)-(1IT), (D)-(IT)
Options:

5402503521. 1
5402503522. 2
5402503523. 3

5402503524. 4

Question Number : 112 Question Id : 540250882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - II :-

List ~ I List - II
(A) Appar () Tevaram
(B) Malfuzat (I) Tamil Veda
(C) Tazkiras () Uttered conversation of Sufis
(

D) Nalayira Divyaprabandham (IV) Women devotee of Shiva
Choose the correct answer from the options given below :

(1) (AL, (BHIL), (CHID), (DHIV)

)
() (A}D, (BHIV), (CH), (D)D)
(3) (A}, (BRI, (C)-(IV), (D))
(4) (A1), (BRI, (CHII), (D)-(IV)
Options :

5402503525. 1
5402503526. 2
5402503527. 3
5402503528. 4

Question Number : 112 Question Id : 540250882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) (A1), (B)-(), (C}(1), (D)-1V)

(2) (A0, B)-(IV), C(I), (D)-(I)

(3)  (A)D, (B}-(I), (C}-V), (D)-(I)

(4) (A0, B)-(I), (O, (D}IV)

Options:

5402503525. 1
5402503526. 2
5402503527. 3

5402503528. 4

Question Number : 113 Question Id : 540250883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

One of the major anthologies of composition by the Alvars was :
(1) Bhagavata Purana

(2) Tevaram
(3) Vachanas
(4) Nalayira Divyaprabandham




Options:

5402503529. 1
5402503530. 2
5402503531. 3
5402503532. 4

Question Number : 113 Question Id : 540250883 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
e gr fafad ter yq@ |9ue o -
(1)  HFTed gl
(2) daH
(3) =
(4) TaRu feeagseay

Options :

5402503529. 1
5402503530. 2
5402503531. 3

5402503532. 4

Question Number : 114 Question Id : 540250884 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Match List - I with List - II :-
List -1 List - 11
() A devotee of Shiva
B) Manikkavachakar (I)  Anthologies of Alvars
(III) A form of Vishnu
D) Karaikkal Ammaiyar (IV) Woman devotee of Shiva

(A) Jagannatha

(

(C) Nalayira Divyaprabandham
(

Choose the correct answer from the options given below :
() (A, B)-(1V), (©)-1), (D)-()

() (A, B)-0), (O-(IV), (D))
(3)  (AMI), B)-D), (C)(M), (DHIV)
(4) (A0, (B)-I), (O, (D}IV)
Options:

5402503533. 1
5402503534. 2
5402503535. 3

5402503536. 4

Question Number : 114 Question Id : 540250884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Teit-1 ¥ GeAl-11 1 el i
3 L1

(A) SR () o =1 T wad
(B) WfUTeRRIEERT () SR 1§98 T
(C) afa feeayer<m (IT) foroy] =1 Tk &Y
(D) BRI AR (V) fora <l wfeen s

A T T faeredl § | R S A = Hifo

(1) (A, (B)-(1V), (©-0), (D)-(1)
(2) (A0, (B)-(0), (O-(1V), (D)-(IIT)
(3) (A, (B)-(D), (CHI), (D)}-(IV)
(4) (A0, (B)-(I), (O)-(I), (D}-(IV)
Options:

5402503533. 1
5402503534. 2
5402503535. 3

5402503536. 4

Question Number : 115 Question Id : 540250885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the landmarks in the discovery and conservation of the Vijayanagara Empire in a
chronological order.

(A) Colin Mackenzie's Visit.
(B) Alexander Greenlaw takes first detailed photographs.

(C) Conservation begins under John Marshall.
(D) J.F. Fleet begins documenting inscriptions.
(E) Hampi declared as a world heritage site by UNESCO.
Choose the correct answer fmm the options given below
() (&) @) © D)
2 (4) () (O) (C) )
() (), () () 6) (4)
@ (© (D) (), (4), B)
Options:
5402503537. 1
5402503538. 2
5402503539. 3

5402503540. 4

Question Number : 115 Question Id : 540250885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(A), (B), (C), (D), (E)

A), (

Options:

5402503537. 1
5402503538. 2
5402503539. 3
5402503540. 4

Question Number : 116 Question Id : 540250886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Read the statements in the context of the Vijayanagara Empire and choose the correct statements.

(A) Rulers very often encouraged temple building as a means of associating themselves with the
divine,

(B)  Temples functioned only as a religious centre and was never a center of economy and polity.

(C) Kings prepared and maintained temples to win the support and for recognition of their
power, wealth and pety.

(D) Temples never functioned as a centred of learning,
Choose the correct answer from the options given below :
(1) (&) (8) Only

(&) (4) (C) Only
(3) (A), (D) Only
(4) (), (D) Only
Options :
5402503541. 1
5402503542. 2
5402503543. 3
5402503544. 4

Question Number : 116 Question Id : 540250886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503541. 1
5402503542. 2
5402503543. 3

5402503544. 4

Question Number : 117 Question Id : 540250887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which of the following statement is NOT correct about the Nayakas (or Amara-Nayakas) ?

(1)  The term “amara” is believed to be derived from the Sanskrit word “samara” and the Persian
word “amir”.

(2) The amara-nayakas were military commanders who had no control over the territories given
to them by the Rayas,

(3)  The nayakas hastened the decline of Vijayanagara Empire in the seventeenth century.

(4) Some of the revenue collected was used to maintain temples and irrigation warks by the
Nayakas,

Options:

5402503545. 1
5402503546. 2
5402503547. 3
5402503548. 4

Question Number : 117 Question Id : 540250887 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fresfefin ol A 3 ‘T (@' - ) % el & - A v T e

(1) e E R R gt e v T 9 e 9 o A
) - e e o o g e T g o g e R e

3) T W ) T S T 8

§) T TR 8 I ) A g H o - e fd v s fon < e

Options:

(
(
(

5402503545. 1
5402503546. 2
5402503547. 3

5402503548. 4




Question Number : 118 Question Id : 540250888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II :-

List - 1 List - II
(A) Nicolo de Conti (I) Portugal
(B) Abdur Razzak (I) Russia
(C) Afanasii Nikitin (IIT) Persia
(D) Domingo Paes (IV) Italy

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(), (C)-(1), (D)-()

(2 (A)-D), (BRI, (O-IL), (D}-(IV)

(3) (A1), (B)-(), (O)-(IV), (D)-(I)

(4)  (AHIV), (B)-(1L), (O)-(1D), (D)-(D)

Options:

5402503549. 1

5402503550. 2

5402503551. 3

5402503552. 4

Question Number : 118 Question Id : 540250888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

-1 | GEAI-11 1 et s
;@"}.1 =11

(A) e € e ()  gme
(B) 315t TSI () &4
(C) A%l fafepfaa (II) HRH
(D) SIfHT g (IV) sl

= feu U fasedi § 9 Wa 9L 1 II9 Hif9U :

(1) (A)-(1V), (B)-(1), (C)-(1l), (D)-(11)
(2)  (A)-D), (B)-(I), (O(I), (D)-(IV)
(3) (A)-), (B)-(D), (C)-(IV), (D)-(IT)
(4)  (A)-IV), (B)(I1T), (O)-(I), (D)-(T)
Options:

5402503549. 1
5402503550. 2
5402503551. 3
5402503552. 4

Question Number : 119 Question Id : 540250889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The most famous ruler of Vijayanagara, Krishnadeva Raya, composed ‘Amuktamalyada’ about :
(1) Statecraft

(2) Farmers
(3) Peasants
(4)  Courtiers
Options:
5402503553. 1
5402503554, 2
5402503555. 3

5402503556. 4

Question Number : 119 Question Id : 540250889 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
o & Hard YT VI oI 9 A ' STawIcas o o e e H a1 off
SME hedl

Options:

5402503553. 1
5402503554. 2
5402503555. 3
5402503556. 4

Question Number : 120 Question Id : 540250890 Question Type : MCQ Option Shuffling : No Is




Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Panchayats in the Mughal Empire were assisted by a Patwari’, What was the role of the “Patwari ?
(1) Accountant

(2) Headman
(3) Peasant
(4) TJudge
Options:
5402503557. 1
5402503558. 2
5402503559. 3

5402503560. 4

Question Number : 120 Question Id : 540250890 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

el WY H YR ] S 2R i 9| et i ot s o ?
(1) e

(2 dem

(3) Bfe wag

(4) A

Options:




5402503557. 1
5402503558. 2
5402503559. 3

5402503560. 4

Question Number : 121 Question Id : 540250891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the wrong pair from the following options.

(1) Zat - position in the imperial hierarchy.

(2) Sawar - number of horsemen to be maintained by each mansabdar.
(3) Sadr-us-Sudur - Army Commander

(4) Diwan-i-Ala - Finance Minister

Options:

5402503561 1

5402503562. 2

5402503563. 3

5402503564. 4

Question Number : 121 Question Id : 540250891 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




frefafea fasmedi § 9 Tad 99 989 ¢
(1) [ - W&l |9 § 9|
(2) HIX - YA HAHaGR gRI Wiferd S[SHar] shi HeEA |
(3) HE-3H-Hq¥ — A FHHUEY
(4) rEF-T-37e - fo w5l
Options:
5402503561. 1
5402503562. 2
5402503563. 3
5402503564. 4

Question Number : 122 Question Id : 540250892 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

An interesting book giving us a glimpse into the domestic world of the Mughals s the
written by Gulbadan Begum.
(I) Akbar Nama

(2 Humayun Nama
(3) Alamgir Nama
(4) Badshah Nama
Options:
5402503565. 1
5402503566. 2
5402503567. 3
5402503568. 4




Question Number : 122 Question Id : 540250892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T 3 3 o T T R 9 e o o g )

Options:

5402503565. 1
5402503566. 2
5402503567. 3

5402503568. 4

Question Number : 123 Question Id : 540250893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The painting in which Shah Jahan is shown as honouring Prince Aurangzeb at Agta before his

wedding is painted by .

(1) Payag

(2) Abdul Hamud Lahori

(3) Abdul Hasan
)

(4) Hussain

Tl

Options:

5402503569. 1
5402503570. 2
5402503571. 3

5402503572. 4

Question Number : 123 Question Id : 540250893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T W2 o TR ATl ) 3968975 3 A ) e g0 TR 6 g e T €,
1 o o

Options:

5402503569. 1
5402503570. 2
5402503571. 3

5402503572. 4




Question Number : 124 Question Id : 540250894 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Before the Railway Age, the collection centre for cotton from the Deccan was
(1) Alipur

(2) Mirzapur
(3) DBanaras
(4)  Allahabad
Options:
5402503573. 1
5402503574. 2
5402503575. 3

5402503576. 4

Question Number : 124 Question Id : 540250894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) SR
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(4) =R
Options:

5402503573. 1
5402503574. 2
5402503575. 3
5402503576. 4

Question Number : 125 Question Id : 540250895 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

When Permanent Settlement was imposed, who was the Raja of Burdwan ?
(1) Shyam Chand

(2) Amir Chand
(3) Tej Chand
(4) Mehtab Chand
Options:

5402503577. 1
5402503578. 2
5402503579. 3
5402503580. 4

Question Number : 125 Question Id : 540250895 Question Type : MCQ Option Shuffling : No Is




Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
TS o TSl A 9 ST TR acreed A fewa T 2
(1) v =<
(2) STHR I=<
(3) W9 EI<
(4) HeEdE =<
Options :

5402503577. 1
5402503578. 2
5402503579. 3

5402503580. 4

Question Number : 126 Question Id : 540250896 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

A “sahukar” was someone who acted as both a
(1) Moneylender and Zamindar

(2) Trader and Zamindar

(3) Moneylender and Trader

(4) Trader and Peasant

Options:




5402503581. 1
5402503582. 2
5402503583. 3

5402503584. 4

Question Number : 126 Question Id : 540250896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

‘GrgwR’ 8 SAfdd 7 S aHl w41 H 1 Rl § |
(1) WM 3R SHIGR

(2) =R AR SR

(3) TEISH AR TRt

(4) = AR Wfdet Ay

Options:

5402503581. 1
5402503582. 2
5402503583. 3

5402503584. 4

Question Number : 127 Question Id : 540250897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identity the law according to which i payment did not come in by sunset of the specified date, the
zamindari was liable to be auctioned.

(I) Sunshine Law
(2) Sun Law
(3) Sunset Law
(4) Sunrise Law
Options :
5402503585. 1
5402503586. 2
5402503587. 3

5402503588. 4

Question Number : 127 Question Id : 540250897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:
5402503585. 1
5402503586. 2
5402503587. 3

5402503588. 4




Question Number : 128 Question Id : 540250898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Francis Buchanan-Hamilton was a
(1) Police Officer

(2) British Mint Officer

(3) Physician

(4) Traveller

Options:

5402503589. 1
5402503590. 2
5402503591. 3
5402503592. 4

Question Number : 128 Question Id : 540250898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options :

5402503589. 1
5402503590. 2
5402503591. 3
5402503592. 4

Question Number : 129 Question Id : 540250899 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The kingdom annexed by the British in 1836 on the pretext of misgovernance was
(I) Jhans

Options:

5402503593. 1
5402503594. 2
5402503595. 3
5402503596. 4

Question Number : 129 Question Id : 540250899 Question Type : MCQ Option Shuffling : No Is




Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

SFUISH B 1856 TG o SR T, TF 1 forerd forl 71, &% o0
(1) #

(2) W
(3) TR
(4) a9
Options :

5402503593. 1
5402503594. 2
5402503595. 3
5402503596. 4

Question Number : 130 Question Id : 540250900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Who among the following painted “Relief of Lucknow” ?
(1) Thomas Jones Barker

(2) Henry Havelock

(3) Joseph Noel

(4) Colin Campbell

Options:




5402503597. 1
5402503598. 2
5402503599. 3
5402503600. 4

Question Number : 130 Question Id : 540250900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
frfafed § 9 e Relle e a@as"” o s ?
(1)  oT9H S SRt
(2) T TEA®
(3) SR e
(4) I Fraee
Options :

5402503597. 1
5402503598. 2
5402503599. 3

5402503600. 4

Question Number : 131 Question Id : 540250901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




A large majority of the sepoys of the Bengal Army were recruited from Awadh and
(I) Eastern Uttar Pradesh

(2) Western Uttar Pradesh

(3) Meerut

(4] Delhi

Options:

5402503601. 1

5402503602. 2

5402503603. 3

5402503604. 4

Question Number : 131 Question Id : 540250901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key value

Comprehension MCQ

-8 % Faufedi Fi @ o den, @y B ol ford T 8
(1) T W I

(2) i 3R T

(3)
(4)

e
feeedt
Options:
5402503601. 1
5402503602. 2
5402503603. 3
5402503604. 4

Question Number : 132 Question Id : 540250902 Question Type : MCQ Option Shuffling : No Is




Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arrange these events related to the Revolt of 1857 in a chronological order.
(A) Mutiny started in Meerut.

(B) Shah Mal killed in battle.

(C) Rani Jhansi killed in battle.

(D) Subsidiary Alliance introduced by Wellesley in Awadh.

(E) British suffer defeat in the Battle of Chinhat,

Choose the correct answer from the options given below :

() (©), (D), (B), (&), (E

)
2 (A), (B) © D), ([
(3) (B), (&) (E), (D) ()
(4) (D) (A), E) B) (©
Options:

5402503605. 1
5402503606. 2
5402503607. 3

5402503608. 4

Question Number : 132 Question Id : 540250902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(E) Torge < gg | Ui sl uus |

== fou v faehedi °§ 9 Wet 39X 1 999 Hifd ;

(D) (©), (D), (B), (A), (E)
(2)  (A), (B) (©), (D), (E)
3)  (B), (A) (E), (D), (O
4 (D) (A), E), B) (O
Options:

5402503605. 1
5402503606. 2
5402503607. 3

5402503608. 4

Question Number : 133 Question Id : 540250903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Who wrote “Khoob lari mardani woh to [hansi wali rani thi” (Like a man she fought, she was the
Ran of Jhansi) ?

(1) Subhadra Kumari Chauhan

(2) Shobha Chauhan

(3) Subhadra Kumari Shekawat

(4) Shobha Kumari Shekawat



Options:

5402503609. 1
5402503610. 2
5402503611. 3
5402503612. 4

Question Number : 133 Question Id : 540250903 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

“gd TS HeiHl Al ot il arell T ot foRge foran o ?
(1) g¥el FHR =eH

(2) S =R

(3) G FHRI TEEd

(4) N FERT IrErEd

Options:

5402503609. 1
5402503610. 2
5402503611. 3

5402503612. 4

Question Number : 134 Question Id : 540250904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Arrange these events chronologically.
(A) Transfer of capital from Calcutta to Delhi.

(B) Cornwallis Code enacted.

(C) First screening of a film at Watson’s Hotel, Bombay.
(D) First Spinning and Weaving Mill in Bombay.

(E) Asiatic Society founded by Sir William Jones.
Choose the correct answer from the options given below :

(1) (©Q), (D), (B), (A), (B)

(2 (B), (B), (D), (©), (A)
(3)  (B) (A) (D), ©), ()
4 (D), (), (©, (A), (B)
Options:

5402503613. 1
5402503614. 2
5402503615. 3
5402503616. 4

Question Number : 134 Question Id : 540250904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(D) (©), (D), (B), (A), (B)
(2)  (E), (B), (D), (©O), (4)
3) (B), (A) (D), (©), (E)
(4) (D), (E), (©). (A), (B)
Options:

5402503613. 1
5402503614. 2
5402503615. 3

5402503616. 4

Question Number : 135 Question Id : 540250905 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

“Love is Stronger than Hate : A Remembrance of 1947 is written by :
1) Mahatma Gandhi

(
(2) Khushdeva Singh
(3) Khan Abdul

(4) Khushwant Singh

Options:




5402503617. 1
5402503618. 2
5402503619. 3
5402503620. 4

Question Number : 135 Question Id : 540250905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503617. 1
5402503618. 2
5402503619. 3

5402503620. 4

Question Number : 136 Question Id : 540250906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Which “Article’ gave the centre the powers to take over a state administration on the
recommendation of the governor ?

(I) Article 346
() Article 356
(3) Article 361
(4) Article 430
Options :

5402503621. 1
5402503622. 2
5402503623. 3

5402503624. 4

Question Number : 136 Question Id : 540250906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

HT-H1 ST T 1 S0 T g 1 T4 I o SR o 9 < 7

Options :

5402503621. 1
5402503622. 2
5402503623. 3

5402503624. 4




Question Number : 137 Question Id : 540250907 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Name the leader who defended the rights of the state and felt that reallocation of power was
necessary {o strengthen not only the states but also the centre,

(I) K Santhanam
(2) KJ. Khanderkar

)
(3) ] Nagappa
(4)  Nijalingappa
Options:
5402503625. 1
5402503626. 2
5402503627. 3

5402503628. 4

Question Number : 137 Question Id : 540250907 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503625. 1
5402503626. 2
5402503627. 3

5402503628. 4

Question Number : 138 Question Id : 540250908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

“There cannot be any divided loyalty”. Name the Constituent Assembly member who said this.
1) Vallabhbhai Patel

EZ) N.G. Ranga

(3) Govind Ballabh Pant
(4) ]. Nagappa
Options:
5402503629. 1
5402503630. 2
5402503631. 3
5402503632. 4




Question Number : 138 Question Id : 540250908 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503629. 1
5402503630. 2
5402503631. 3

5402503632. 4

Question Number : 139 Question Id : 540250909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Name the leader who made a strong plea for making ‘Hindi' a national language was :
(1) Shankara Rao Deo

(2) BR. Ambedkar
(3) RV. Dhulekar
(4) Rajendra Prasad




Options:

5402503633. 1
5402503634. 2
5402503635. 3
5402503636. 4

Question Number : 139 Question Id : 540250909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(3) RN YorR
(4) TS= YR
Options :

5402503633. 1
5402503634. 2
5402503635. 3

5402503636. 4

Question Number : 140 Question Id : 540250910 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

Name the Constituent Assembly member who said , “The real minorities are the masses of this
country”.

(1) 1 Nagapp
(2} RV. Dhulekar
(3) Jaipal Singh
(4 NG. Ranga
Options:

5402503637. 1
5402503638. 2
5402503639. 3

5402503640. 4

Question Number : 140 Question Id : 540250910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

5402503637. 1
5402503638. 2
5402503639. 3
5402503640. 4




Sub-Section Number : 2

Sub-Section Id : 54025066
Question Shuffling Allowed : No
Is Section Default? : null

Question Number : 141 Question Id : 540250911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Read the passage and answer the question :

“We inspected the stone sculptures and statues of Buddha.... The ruins appear to be the object of
great interest to European gentlemen. Major Alexander Cunningham.., stayed several weeks in
neighbourhood and examined these ruins most carefully. He took drawings of the place, deciphered
the inscription, and bored shafts down these domes. The results of his investigations, were described
by him in an English work...”

The excerpt has been taken from which of the following texts ?

(1) Tajul Masair

(2) Majma-ul Bahrain

)
(3) Essay on the Architecture of Hindus
(4) Tajul Igbal Tarikh Bhopal

Options:

5402503641. 1
5402503642. 2
5402503643. 3

5402503644. 4

Question Number : 141 Question Id : 540250911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum




Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp1
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Options:

5402503641. 1
5402503642. 2
5402503643. 3

5402503644. 4

Question Number : 142 Question Id : 540250912 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the passage and answer the question :
“We inspected the stone sculptures and statues of Buddha.... The ruins appear to be the object of
great iferest to European gentlemen, Major Alexander Cunningham.... stayed several weeks in
neighbourhood and examined these ruins most carefully. He took drawings of the place, deciphered
the iscription, and bored shafts down these domes, The results of his investigations, were described
by him in an English work....”
The above text has been written by
(1) Kudushiya Begum
(2) Sultan Jehan Begum
(3) Nawab Shikandar Begum
(4) Shahjehan Begum
Options:
5402503645. 1
5402503646. 2
5402503647. 3
5402503648. 4

Question Number : 142 Question Id : 540250912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

5402503645. 1
5402503646. 2
5402503647. 3

5402503648. 4

Question Number : 143 Question Id : 540250913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the passage and answer the question :

“We inspected the stone sculptures and statues of Buddha.... The ruins appear to be the object of
great iferest to European gentlemen, Major Alexander Cunningham.... stayed several weeks in
neighbourhood and examined these ruins most carefully. He took drawings of the place, deciphered
the iscription, and bored shafts down these domes, The results of his investigations, were described
by him in an English work....”

The 'ruins’ refer to the stupa of
(1) Bharhut

(J) Sanchi

(3) Amravati

(4) Nagarjonakonda
Options:

5402503649. 1
5402503650. 2
5402503651. 3

5402503652. 4

Question Number : 143 Question Id : 540250913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

5402503649. 1
5402503650. 2
5402503651. 3

5402503652. 4

Question Number : 144 Question Id : 540250914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the passage and answer the question :

“We inspected the stone sculptures and statues of Buddha.... The ruins appear to be the object of
great iferest to European gentlemen, Major Alexander Cunningham.... stayed several weeks in
neighbourhood and examined these ruins most carefully. He took drawings of the place, deciphered
the iscription, and bored shafts down these domes, The results of his investigations, were described
by him in an English work....”

To whom did John Marshall dedicate his important volumes on Sanchi ?
(1) Sultan Jehan Begum
(2) Nur Jehan Begum
(3) Jahanara Begum
(4) Shahjehan Begum
Options:
5402503653. 1
5402503654. 2
5402503655. 3

5402503656. 4

Question Number : 144 Question Id : 540250914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options :

5402503653. 1
5402503654. 2
5402503655. 3
5402503656. 4

Question Number : 145 Question Id : 540250915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Read the passage and answer the question :

“We inspected the stone sculptures and statues of Buddha.... The ruins appear to be the object of
great iferest to European gentlemen, Major Alexander Cunningham.... stayed several weeks in
neighbourhood and examined these ruins most carefully. He took drawings of the place, deciphered
the iscription, and bored shafts down these domes, The results of his investigations, were described
by him in an English work....”

H.D. Barstow is associated with the translation of
(1) The Monuments of Sanchi

(2) Majma-ul Bahrain
(3 Ri I%dd

(4 Ta]ullqbalTankh Bhopal
Options:

5402503657. 1
5402503658. 2
5402503659. 3

5402503660. 4

Question Number : 145 Question Id : 540250915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

5402503657. 1
5402503658. 2
5402503659. 3

5402503660. 4

Sub-Section Number : 3
Sub-Section Id : 54025067
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 146 Question Id : 540250916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Read the passage and answer the question :
Charkha

Mahatma Gandhi was profoundly critical of the modern age in which machines enslaved humans
and displaced labour. He saw the charkha as a symbol of a human society that would not glorify

machines and technology. The spinning wheel, moreover, could provide the poor with
supplementary mcome and make them self-reliant

What [ object to, is the craze for machinery as such. The craze s for what they call labour-saving
machinery. Men go on “saving labour”, til thousands are without work and thrown on the open
streets to die of starvation. [ want to save time and labour, not for a fraction of mankind, but for all
| want the concentration of wealth, not in the hands of few, but in the hands of all.

YOUNG INDIA, 13 NOVEMBER 1924

Khaddar does not seek to destroy all machinery but it does regulate its use and check its weedy

growth. It uses machinery for the service of the poorest in their own cottages. The wheelis itself an
exquisite piece of machinery.

YOUNG INDIA, 17 MARCH 1927

Mahatma Gandhi objected to
(1) Extensive labour

(2) Slavery

(3) Craze for machinery
(4)  Technology
Options:
5402503661. 1
5402503662. 2
5402503663. 3
5402503664. 4

Question Number : 146 Question Id : 540250916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options :
5402503661. 1
5402503662. 2
5402503663. 3
5402503664. 4

Question Number : 147 Question Id : 540250917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension Comp2

Read the passage and answer the question :
(harkha

Mahatma Gandhi was profoundly critical of the modern age in which machines enslaved humans
and displaced labour. He saw the charklia as a symbol of a human society that would not glorify
machines and technology. The spinning wheel, moreover, could provide the poor with
supplementary income and make them self-reliant.
What I object to, is the craze for machinery as such. The craze is for what they call labour-saving
machinery. Men go on “saving labour”, till thousands are without work and thrown on the open
streets to die of starvation. [ want to save time and labour, not for a fraction of mankind, but for all;
[ want the concentration of wealth, not in the hands of few, but in the hands of all.

YOUNG INDIA, 13 NOVEMBER 1924

Khaddar does not seek to destroy all machinery but it does regulate its use and check its weedy
growth. [tuses machinery for the service of the poorest in their own cottages. The wheel is itself an
exquisite piece of machinery.

YOUNG INDIA, 17 MARCH 1927

is itself an exquisite piece of machinery.
1) Wheel

Options:

5402503665. 1
5402503666. 2
5402503667. 3
5402503668. 4

Question Number : 147 Question Id : 540250917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
i TSt 2Rt ¢ 7 T o S

wdl

T T e 7, Fre T ) T e R o 22 fe o, o R o )
T T O T, T & s A o, o e o e ) o et 7 fn
0T | 3 ¥ e, < TR ] 0 AT P ) o 91 % el o el

T8t 9T R 6 9 | 7 R A A 9 O |7 9
9 i 7R oM ) W 5 9% 4 © 70  fow v 7 6 Fon o e o T
fewh o fore 7] e ol 6 Fee o o o i 1 €1 4 ) o 9 € i 5 0
e 70 7o 8 e T

77 36, 13 TR 1924

TR IR T2 T T T e s S A i e i s fo ) i
I €| % VT o A s 0 A o o s e gt A o 1 o o e A
T 1 O 9 T €1

4 9 8 T A T 3 ¢

Options:

5402503665. 1
5402503666. 2
5402503667. 3

5402503668. 4



Question Number : 148 Question Id : 540250918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Read the passage and answer the question :
Charkha

Mahatma Gandhi was profoundly critical of the modern age in which machines enslaved humans
and displaced labour. He saw the charkha as a symbol of a human society that would not glorify

machines and technology. The spinning wheel, moreover, could provide the poor with
supplementary mcome and make them self-reliant

What [ object to, is the craze for machinery as such. The craze s for what they call labour-saving
machinery. Men go on “saving labour”, til thousands are without work and thrown on the open
streets to die of starvation. [ want to save time and labour, not for a fraction of mankind, but for all
| want the concentration of wealth, not in the hands of few, but in the hands of all.

YOUNG INDIA, 13 NOVEMBER 1924

Khaddar does not seek to destroy all machinery but it does regulate its use and check its weedy

growth. It uses machinery for the service of the poorest in their own cottages. The wheelis itself an
exquisite piece of machinery.

YOUNG INDIA, 17 MARCH 1927

‘Charkha’ could provide the poor with supplementary income and make them
(1) Rich

(2) Selfish

(3)  Self-reliant

(4) Earn more
Options:
5402503669. 1
5402503670. 2
5402503671. 3

5402503672. 4




Question Number : 148 Question Id : 540250918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
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5402503669. 1

5402503670. 2




5402503671. 3

5402503672. 4

Question Number : 149 Question Id : 540250919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

Read the passage and answer the question :
Charkha

Mahatma Gandhi was profoundly critical of the modern age in which machines enslaved humans
and displaced labour. He saw the charkha as a symbol of a human society that would not glorify
machines and technology. The spinning wheel, moreover, could provide the poor with
supplementary income and make them self-reliant.

What [ object to, is the craze for machinery as such. The craze is for what they call labour-saving
machinery. Men go on “saving labour”, tll thousands are without work and thrown on the open
streets to die of starvation. [ want to save time and labour, not for a fraction of mankind, but for all
| want the concentration of wealth, not in the hands of few, but in the hands of all

YOUNG INDIA, 13 NOVEMBER 1924

Khaddar does not seek o destroy all machinery but it does regulate its use and check its weedy

growth. It uses machinery for the service of the poorest in their own cottages. The wheelis itself an
exquisite piece of machinety.

YOUNG INDIA, 17 MARCH 1927

Ganchi saw ‘charkha’ as a symbol of human society that would not glorify
(1) Colonialism

()  Machines and Technology
(3) Modernity

(4) Imperialism
Options :
5402503673. 1
5402503674 2



5402503675. 3

5402503676. 4

Question Number : 149 Question Id : 540250919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
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Options:

5402503673. 1
5402503674. 2
5402503675. 3

5402503676. 4

Question Number : 150 Question Id : 540250920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Read the passage and answer the question :
Charkha

Mahatma Gandhi was profoundly critical of the modern age in which machines enslaved humans
and displaced labour. He saw the charkha as a symbol of a human society that would not glorify
machines and technology. The spinning wheel, moreover, could provide the poor with
supplementary mcome and make them self-reliant

What [ object to, is the craze for machinery as such. The craze s for what they call labour-saving
machinery. Men go on “saving labour”, til thousands are without work and thrown on the open
streets to die of starvation. [ want to save time and labour, not for a fraction of mankind, but for all
| want the concentration of wealth, not in the hands of few, but in the hands of all.
YOUNG INDIA, 13 NOVEMBER 1924
Khaddar does not seek to destroy all machinery but it does regulate its use and check its weedy
growth. It uses machinery for the service of the poorest in their own cottages. The wheelis itself an
exquisite piece of machinery.
YOUNG INDIA, 17 MARCH 1927

Mahatma Gandhi was profoundly critical of modern age in which
(1) Machines enslaved humans

(2) Humans lacked technology

(3) Humans became poor

(4) Poor depended on rich

Options:

5402503677. 1

5402503678. 2

5402503679. 3

5402503680. 4

Question Number : 150 Question Id : 540250920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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5402503677. 1

5402503678. 2

5402503679. 3

5402503680. 4


Free Hand


